
1 Symbols

∀x ∈ X, ∃y ≤ ε

2 Operators

+− =!/()[] <> |′ :
cos(2θ) = cos2 θ − sin2 θ
limx→∞ exp(−x) = 0
a mod b
x ≡ a (mod b)

3 Greek letters

α,A, β,B, γ,Γ, π,Π, φ, ϕ,Φ

4 Powers and Indices

kn+1 = n2 + k2n − kn−1
n22

f(n) = n5 + 4n2 + 2|n=17

5 Fractions
n!

k!(n−k)! =
(
n
k

)
1
x+ 1

y

y−z
3/7
3/7

(x1x2)
× (x′1x

′
2)

(y1y2y3y4)
(1)

6 Roots√
a
b

x =
√
y2 ∗ 2

n
√

1 + x+ x2 + x3 + . . .
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7 Sums and Integrals∑10
i=1 ti∫∞

0
e−x dx

∑∏∐⊕⊗⊙⋃⋂⊎⊔∨∧∫ ∮ ∫∫ ∫∫∫ ∫∫∫∫ ∫
· · ·
∫

(2)∑
0<i<m
0<j<n

P (i, j)

b∫
a

8 Brackets, braces and delimiters

(a), [b], {c}, |d|, ‖e‖, 〈f〉, bgc, dhe, piq(
x2

y3

)
P
(
A = 2

∣∣∣A2

B > 4
)

{
x2

y3

}
x3

3

∣∣∣1
0

(
((((
d
dx (kg(x))
d
dx

(
kg(x)

)
9 Intervals

x ∈]− 1, 1[
x ∈ ]− 1, 1[
x ∈ ]−1, 1[

10 Matrices

a b c
d e f
g h i

−1 3
2 −4

=
[r]− 1 3

2 −4

Am,n =


a1,1 a1,2 · · · a1,n
a2,1 a2,2 · · · a2,n

...
...

. . .
...

am,1 am,2 · · · am,n


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M =


5
6

1
6 0

5
6 0 1

6

0 5
6

1
6



M =

(x y

A 1 0
B 0 1

)
A matrix in text must be set smaller:

(
a b
c d

)
to not increase leading in a

portion of text.

11 Text in equations

50apples× 100apples = lotsofapples2

50apples× 100apples = lots of apples2

50 apples× 100 apples = lots of apples2

50 apples× 100 apples = lots of apples2

12 Accents

a′a′ a′′a′′ ââ āā àà áá ȧȧ ää 6 a 6 a å
−−→
AB
−−→
AB
←−−
AB
←−−
AB a′′′a′′′ a′′′′a′′′′ aaaaaa ǎǎ ăă~a~a

...
a [3]

....
a [3]ÂAAÂAA ÃAAÃAAãa

13 Plusminus sign

±
∓

14 Inline and Displayed Formulas

x = 1+y
1+2z2

x =
1 + y

1 + 2z2∫∞
0
e−x

2

dx =
√
π
2 ∫ ∞

0

e−x
2

dx =

√
π

2∫ ∞
0

e−x
2

dx

1

1 +
1

2 +
1

3 + x

+
1

1 + 1
2+ 1

3+x
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15 Spaces and Text in Formulas
√

2 sinx,
√

2 sinx∫∫
f(x, y) dxdy ∫∫

x∈R2

〈x,y〉 dx

x1 = a+ b and x2 = a− b

x1 = a+ b and x2 = a− b

y = x4 + 4

= (x2 + 2)2 − 4x2

≤ (x2 + 2)2(3)

ex ≈ 1 + x+ x2/2! +

+ x3/3! + x4/4! +

+x5/5!

w + x+ y + z =

a+ b+ c+ d+ e+

+ f + g + h+ i

x = sinα = cosβ

= cos(π − α) = sin(π − β)

x= sinα = cosβ

= cos(π − α) = sin(π − β)

x= sinα = cosβ
= cos(π − α) = sin(π − β)
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16 Formula Numbering

x = y + 3 (4)

In equation (7) we saw . . .
...

x = y + 3 (5)

In equation (7) we saw . . . ∫
1 = x+ C∫
x =

x2

2
+ C∫

x2 =
x3

3
+ C

(6)

∫
1 = x+ C∫
x =

x2

2
+ C∫

x2 =
x3

3
+ C(7)

17 Braces

]0, 1[ + dxc − 〈x, y〉 (
n+ 1

k

)
=

(
n

k

)
+

(
n

k − 1

)

|x| =
{
−x if x < 0
x otherwise

F (x, y) = 0 and

∣∣∣∣∣∣
F ′′xx F ′′xy F ′x
F ′′yx F ′′yy F ′y
F ′x F ′y 0

∣∣∣∣∣∣ = 0

n(n− 1)(n− 2) . . . (n−m+ 1)︸ ︷︷ ︸
total of m factors
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18 Accents

x̂, x̌, ã, ¯̀, ẏ, ÿ, ~z1, ~z1

T̂ = T̂ , T̄ = T , x̃yz,
︷ ︸︸ ︷
a+ b+ c︸ ︷︷ ︸+d

a2 + xy + z

a+

=t︷ ︸︸ ︷
b+ · · ·+z︸ ︷︷ ︸
total

a+
︷ ︸︸ ︷
b+ · · ·

126

+ z
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